Geometry (E)		                    Name: ______________________________________
Midpoint, Bisect, Trisect Homework
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18 OG and OH divide straight angle FOJ
into three angles whose measures are in
the ratio 4:3:2. Find m£FOG.
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In problems 10 and 11, reason 2 in each proof is stated incorrectly.
Supply the correct final reason for each problem.

10 Given: ZDEG = FEG i
Prove: EG bisects ZDEF. G
E
Statements Reasons
1 ZDEG = ZFEG 1 Given
2 EC bisects LDEF. | 2 If a ray divides an angle into two

angles, the ray biseats the angle.
(What is the correct reason?)
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1 Gl

e
Prove: | is the 1

K =H

ipoint of AK.

K M
Statements Reasons
1 K =H | 1cwven
J is the midpoint of HK. | 2 I a point is the midpoint of a

segment, it divides the segment
into two congruent segments.
(What is the correct reason?)
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16 Given: ZTXW is a right angle.
LTYV is a right angle.

Prove: LTXW = £TYV
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17 Given: B is the midpoint of AC. A
Prove: AB = BC
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1 Name the congruent segments.
a O is the midpoint of CD.
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2 Name the congruent angles
a RO bisects ZNRP.
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3 Name the angle bisector.
a J
F H
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b S bisects XV,
X W

b XTand XV
trisect ZSXW.
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b mZPOK = m£MOK
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6 Given: OM = x + 8,
MP = 2x =

OP =44
Is M the midpoint of OP?
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9 Given: LABC = 90°,

21 = (2x + 108
£2= (x + 20",
£3 = (3x

Has ZABC been trisected?
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